SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)

SUBJECT: ENGLISH TEXT
MARKS: 60
DATE : 23-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

Section-A (Objective)
Q-1 (A) Choose the correct answers from the given options: (0.5x4=2)
1.  Robinson Crusoe was surprised to see
a) A man. b) The footprint of a man.
c) A boat d) The footprint of a large animal.
A group of birds 1s called a .....
a) Flock b) Herd ¢) Bunch d) Pack
Who has topped in the class?
a) Munna b) Bhaiya c) Sister d) Baba
When Bhaiya become gentler with Munna, Munna became.....

a) Obedient b) Naughtier c¢) Studious d) Helpful

Q-1 (B) State whether the following sentences are ‘True’ or ‘False’. (0.5x6=3)
1.  Robinson’s ship had been destroyed by the wind.
2. To speak or write English properly tremendous efforts are required.
3.  Robinson was frightened to see the footprint.
4.  Understanding doesn’t come only from reading books.
5. Munna wanted his foundation to be strong in education.
6. The odd-looking man had red beard.
Q-1 (C) Fill in the blanks with appropriate words: (I1x 6= 6)
1.  The creeper grew, it became and began its way up the tree.

Suddenly, the ant and into the water.

Robinson thought that the had come from the

Rip’s constant companion was his , whose name was

2
3
4. Munna’s had never gone to schooland  had passed only fifth class.
5
6

My shadow is like me from up to the




Q-2 (A) Write Antonyms of the following words. (0.5x4=2)
1) Strong 2) Forget
3) Pull 4) Pity

Write the rhyming word for the following words. (0.5x6=3)
1) Trap 2) Cover

3) Chase 4)  Spare

5) Tender 6) Stroke

Write the meaning of the following words and make sentence of it.
1) Struggle 2) Flock
3) Investigation 4)  Protection

5) Master

Match the following: (05.x6=3)

A
1) Robinson decided to measure Munshi Premchand
2) My elder brother the footprint with his own footmark.
3)  Munna thought that he was lucky Daniel Defoe
4)  Robinson Crusoe because he could pass easily.
5) Flying together Washington Irving
6) Rip Van Winkle Shiv Kumar

Q-3 (B) Answer the following questions in one sentence.
Where was Robinson Crusoe?
What made Robinson think that the print on the ground was footprint?
How did Bhaiya try to help Munna?

How your shadow looks like?

1
2
3
4.  According to the poet what can you do after crying a lot?
5
6

Where did the geese live?




SECTION-B (SUBJECTIVE)
Q-4 (A) Reference to context: (2.5x2=5)
1. “Itis Rip Van Winkle! Welcome home again, old neighbour.”
2. “But Bhaiya were is the time to play.”

Q-4 (B) Write the summary of the lesson “Rip Van Winkle.” (3x1=3)

Q-5 (A) Write the character sketch of “Odd- looking men.” (3x1=3)

Q-5 (B) Answer the following questions in detail: (2.5x2=5)
1)  What did Robinson Crusoe realize when he came closer to the footprint? Why?

2)  Whose character do you like more — Munna’s or Bhaiya’s? Why?

Q-6 (A) Answer the following questions in two or three sentence. (2x5=10)

What were the things that Munna liked to do?

What happened when Robinson Crusoe prayed?

Why was Robinson Afraid when he looked at the bushes and trees?
What did the wise old bird notice?
What was the only problem with Rip Van Winkle?

Complete the following stanza.

Crying only a splash splash!




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)

SUBJECT: ENGLISH GRAMMAR
STD : V MARKS: 60
DATE : 16-10-2024 TIME: 2.00 hrs.

o
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INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.
SECTION - A (OBJECTIVE)
Q.1 (A) Fill in the blanks with ‘a' or ‘an’' article. (0.5x6=3)

1. My father carries umbrella when it rains.

Please give me one rupee note.

I purchased pen.
Reenu saw owl.

Mr. Vinay is lawyer.
Reetu eats apple.

Write the adjectives and mention their kinds from the following sentences .
(0.5x4=2)

(1) The loving father patted his sincere son.

(2) The artist gave a hilarious performance.

(3) The whole mountain was covered with white ice.

(4) Sheela preferred that green pen .

Fill in the blanks with suitable determiners. (0.5x6=3)

(1) elephant is a huge animal. (much /The)

(2) Thereis_ food for 2 people. (much /enough)

(3) Thave books than my grandpa. (few / fewer)

(4) Do you have extra pen? (some/any)

(5) Bani has purchased books. (fewer /a few)

(6) Neeti has books on literature. (many/ little)

(D) Write the nouns and their adjectives from the following sentences . (0.5x4=2)

(1) Geeta has an imported car.

(2) The green vegetables were sold like hot cakes.
(3) Mr. Pradeep likes green tea.

(4) Pinky has long hair.




Q.2 (A) Write the adverbs of the following adjectives . (0.5x6=3)

(1) Bold (4) Attentive
(2) Honest (5) Careful
(3) Patient (6) Brisk

(B) Write possessive pronoun from the following sentences . (0.5x4=2)
(1) This house belongs to them. It is theirs.
(2) Have you taken that book? It is mine.
(3) Do you know that the book you saw in my hand was not mine? It was his.
(4) Reena said the earings lying on the floor were hers.

(C) Fillin the blanks with appropriate degree of Comparison. (0.5x4=2)
(1) SMS is than a letter. (quick)
(2) Rohit is than Mohan. (wise).
(3) My pen is than hers. (costly)
(4) Hitesh is than Anil. (strong)

(D) Fill in the blanks with appropriate interrogative pronouns. (1x3=3)
(1) is knocking at the door?
2) is this house?
3) do you want from me now?

Q.3 (A) Find out the verbs and adverbs from the following sentences. (1x4=4)

(1) The hero acted, boldly.
(2) The train arrived six hours late.
(3) We will play a match over here.
(4) I went to bed early.

(B) Write the opposite of the following adjectives .
(1) Careful
(2) Healthy

(3) Polite




(C) Complete the table with the correct form of degree. (0.5%x6=3)

Positive Comparative Superlative

shorter

smallest

slower

sharpest

SECTION: B (SUBJECTIVE)
Q.4 (A) Define the following. (1x2=2)
(1) Quantifiers
(2) Adjectives
(B) Choose the correct option and rewrite the complete sentence. (1x4=4)
(1) Has Peter got any / some brothers or sisters? Yes, he has one brother.
(2) Thave got a/some sandwich but I haven't got a/any milk.
(3) Are there any I some tomatoes in the basket? Yes, there are a little / a few.
(4) Peter doesn't drink many / much milk. But he drinks many/ a lot of water.
(C) Add articles (A, An, The) where needed and rewrite the sentences correctly.(1x3=3
(1) Neeru is intelligent girl.
(2) Smith is European boy.
(3) Mrs.Tarla is kind lady.
Q.5 (A) Write an essay on any one topic in 150 - 200 words.
(1) Swachh Bharat Abhiyan
(2) A visittoazoo

(B) Write an informal letter to a friend thanking him for a present sent to you on

your birthday. (4x1=4)

(C) Write a notice for the school notice board informing students about school

inspection. (4x1=4)




Q.6 (A) Read the passage carefully and write the answers of the following questions(1x5=5)

The Sun is a star around which many planets revolve such as Mercury, Venus,

Earth, Mars, Jupiter, etc. The nearest planet to the Sun is Mercury and Neptune is the

farthest one. There is a total of eight planets in the solar system. The sun is a ball of
gasses like helium, oxygen, carbon, and hydrogen but it has the largest amount of
helium and hydrogen gas.

The temperature of the outer surface of the Sun is about 5500°C, which is very
high. Also, there are some such stars that are bigger and brighter than the Sun in the
entire galaxy. The Sun plays an important role in eclipses. A solar eclipse occurs when
the Moon comes between the Sun and the Earth whereas a lunar eclipse occurs when
the Earth comes between the Sun and the Moon.

QUESTIONS:
1.  Write the names of any three planets.

Which planet is the nearest to the Sun?

What is the temperature of the outer surface of the Sun?

When does a solar eclipse occur?

How many planets are there in the solar system?

Q.6 (B) Describe the following picture.




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: ENVIRONMENTAL STUDIES
MARKS: 60

DATE : 19-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION -A (OBJECTIVE)
Q-1 [A] Choose the correct option. [0.5x10=05]
1.  During which season does the milk spoils quickly?
a) Winter b) Summer c) Monsoon d) Spring
Which of the following is known as hunter plant?
a) Rose Plant b) Pitcher plant c) Marigold plant  d) Cactus
Which of the following item is best for a sick person to consume?
a) Sprouted lentils b) Samosa ¢) Manchurian d) Pizzas
From which of the following details written on the food packet can one know
whether it is fit for eating or not?
a) It’s best before date b) Ingredients c) Price d) Weight
Which of the following container holds highest amount of water?
a) Glass b) Jug c¢) Bucket d) Tumbler
How was the water crisis taken care of in Darki Mai’s village?
a) By constructing a lake.
b) By building a tank.
c¢) By building a pond.
d) By shifting to another village.
What other than mango pulp is added to Aam Papad?
a) Salt b) Spices c) Baking Powder d) Jaggery
Which of the following famous attraction is located at Uparkot of Junagadh?
a) Navghan well ~ b) Rani ki Vav  c¢) Adalaj Vav d) Punit Van
What needs to be done to detect malaria?

a) X-ray b) Stool test c) Urine test d) Blood test

Which qualities will develop due to mountaineering?

a) Self Confidence b) Leadership  c) Courage d) All of these




Q-1 [B] State whether the following statements are true or false. [0.5x06=03]
1.  Repairing a leaking tap is the act of water conservation.
Puris are fried in hot water.
Vitamin C, iron tablets and chocolate milk are given at breakfast to keep the
strength and for warmth.
Nuisance of mosquito increase during winter season.
If seed does not get light, it can grow.
Sand is soluble in water.
Q.1 [C] Identify the pictures and write their names. [01x06=06]
1.

Q-2 [A] Match the following. [0.5x04=02]
(A) (B)
Neem . Teta

Mango . Kachuka

Tamarind . Goth

Banyan . Limboli




Q.2 [B] Fillin the blanks [01x06=06]

1.

Water is obtained from the by getting down with the help of stairs or steps.
Blood is tested with the help of a
The Nehru institute of Mountaineering is located at

If roti remains in humid atmosphere, develops quickly on moist roti.
The disease that is caused by the deficiency of iron is known as
People living in Uparkot fort would get required water from stepwell.

Class1fy into that dissolve in water & that does not dissolve in water. [0.5x10=05]

[Glass, Sugar, Oil, Wood, Rock, Candy, Iron, Salt, Milk, Honey]

Things that dissolve in water Things that does not dissolve in water

Identify me with the help of hint given. [0.5x06=03]

1.

I am the scientist who discovered that Malaria is spread by mosquito. Who am 1?
I was Bachendri Pal’s guide when she joined Nehru Institute of Mountaineering.
Who am 1?

I am the scientist who discovered Velcro. Who am 1?

I am the king who constructed Ghadsisar with the help of people. Who am 1?

I am the group who helped Darki Mai to build lake to solve water crisis. Who Am
1?

I am the fort located at Junagadh. Who am 1?

SECTION - B (Subjective)

Give two examples of each of the following . [01x07=07]

Things that sinks in water.

Things that floats in water

Food items that can be made from ripe mangoes
Factors playing role in seed dispersal.

Food items that contain iron.

Seeds having less weight.

Forts of India.

[B] Answer the following in one sentences. [01x06=06]

1.

Where was the platform constructed to make aam papad?

How are the paths of mountains?
Who used to live in the Buddhist caves located at Uparkot?
What type of substance seen in water can be separated with the filter?

Which factors are needed for a seed to grow?
Which is the main source of water?




[C] Answer the following questions in brief. (Any 3) [03x03=09]
1.  Even if a person does not know how to swim, the person does not drown in the
Dead Sea. Why?
Where does the rainwater that falls on the Earth flows away?
State the methods to preserve food.
Give reason: Food should be kept covered.
Q-4 [A] Give the definition of the following. [01x03=03]
1.  Monocotyledons
2. Source of water
3. Evaporation

[B] Look at the picture carefully and answer the following: [01x05=05]

Surat Municipal Corporation — Hydraulic Department
Water Bill East Zone

Connection No. XXXX
| | Name Poojan Patel
| Address XXXXXXX,
| XXXX, XXXXXXXX XXXX, XXXX, XXXX
| Connection Usage : Residence Bill Period : July-August—"19
| No. of Family : 1 Meter Status : Working
| Connection Size : 1/2 Inch Bill Date : 03/09/2019
, Meter No. : XXX X Last Payment Date : 17/09/2019
| Reading Details
| I Previous Reading Current Reading Actial Consumpiion
i 228000 242000 14000
Total 14000

| Bill Details

| A. Previous Balance (As on Date 03/09/2019)

| A, Total
l[ B. Current Bill Details s

Amount Rs.

Current Water Cha rpes

116.87
116.87

B. Total
Rounding
Total Payable

begal purpose. 29

Look at the bill and write down from which office this bill has come?

Look at the bill and write down in whose name is the bill?

Look at the bill and write down which bill is this?

Look at the bill and write down how much money do they have to pay for the bill?
Look at the bill and write down the name of the department that works for water

supply?




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT - I (2024-25) &
SUBJECT: MATHEMATICS it

STD : V MARKS: 60
DATE : 21-10-2024 TIME: 2.00 hrs.

INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.
SECTION - A (OBJECTIVE)

Q-1 (A) Choose the correct option: [1x10=10]

Total length of the boundary of any shape is called

a) perimeter b) volume c) area d) width

A space occupied an object is called

a) area b) perimeter c¢) volume d) None of these

The length of a side of a square is 6 cm. What is the perimeter of the square?

a) 24 b) 25 c) 0 d) 100

The length and breadth of the rectangle is 10cm and Scm. What is the area of these
rectangle?

a) 50 sq.cm b) 15 sq.cm ¢) 10 sq.cm d) None of these
Choose the correct shaded portion from the given four choices.

1 1
1 3 E a
Which word will look same after half turn ?
a) MATH b) JOY ¢) NOON d) MADE
Which letter will look same after half and one-fourth turn?
a)l b) O c)Q dM

What is the angle of rotation in ith turn ?

a) 90 degree  b) 45 degree c) 180 degree d) 360 degree
What will come next 74,6,8,10,

a) 13 b) 12 c)23 d) 22

One third of 12 is

a) 4 b) 6 c)8 d)10

Fill in the blanks: [1x10=10]

The unit of area is
. 5 )
In fraction o Numerator 1s

What is the opposite direction of SOUTH?

Measurement of the straight angle is




The combination of whole number and proper fraction is called
One parts from four equal parts of an object is written as in fraction
A fraction whose numerator is less than its denominator is called

A fraction with the same denominator 1s called
1 of 12 is
2
. 11 .
10. Reciprocal ofﬁ is

State whether the following statements are true or false. [0.5x5=2.5]

1.  Reciprocal of 0 is 0.
Reciprocal of 1 is 1
Equilateral triangle has 3 line of symmetry.

Reciprocal of proper fraction is improper.

6. . . 2
Sisa equilateral fraction of >

Match the pairs correctly [0.5x5=2.5]
A
Proper fraction
Unique fraction
Like fraction

Unlike fraction

Improper fraction

SECTION - B (SUBJECTIVE)
Q-3 (A) Do as directed: [1x10=10]

. : : 5 .
1.  Find the equivalent fraction of - with numerator 35.

o 51
2. Reduce in simplest form: i

: . . 3
Write any two equivalent fraction of <




Are you very hungry, would you have % or % of cake?

) 5 .14
Find: = of —
720

Find: =+ 2
9 3
Write eight 6 digit numbers which look the same on half a turn.

How many lines of symmetry does this shape have?

How  many lines of symmetry does  this shape  have?

10. Find the value of % of 60.

Solve the following examples: ( any 4)
3, 11 4 5

1. Add: (a)S; + 4 (b)6; + 5=

Simplify. 3= +25 - 1
Convert into special number: 346
Complete the following palindromes:
1) NAMENOW_ E
2) NOWSIRAWAR

Express in fraction: 25 paise as fraction of X 3.
6.  Subtract: 5> - 3=
10 "12
Q-4 (A) Solve the following word problems:(any 4) [3x4=12]

1. Ifthe cost of 3 % kg of sweet is X 375 %, find the cost of 1 kg of sweet.

2. Find the are of the following shapes.




Pooja studied science for % hour and English for % hour. How long she study?

Fill the given square using the numbers from 5 to 13 in such a way that each row
and column add up to 27.

10

9
8 12
Bhavya and Dharm took 42 minutes to reach the hostel from the school. If they

walked % of the time and went by bus for the remaining time. How many minutes
did they spend in the bus?

T
In an examination, 3 of the total students passed. If the total students are 48. How

many students failed?

Q-4 (B) Look at the map below and answer the question that follow. [1x5=5]

Lajpat
Rai Market
e
Chandni Chowk -
Gourishankar
Mandir
Jama
Masjid
NS Park

Shanti Van

I,__

__ Shakti Sthal

" Rajghat

L )

Arun Jaitley
Stadium = Indira Gandhi
Indoor Stadium

Dolls Museum

I .—-—r Police HQ

ITO

Vikas Minar l Thermal Power
Eleetric Project

Chandni chowk is towards which direction of Delhi Gate ?
Which is the shortest route from Shakti Sthal to Jama mas;jid ?
Arun Jaitly Stadium is towards which direction of Red Fort?
Which is closer to Red Fort — Chandi Chowk or Delhi Gate?

Arun Jaitly Stadium is towards which direction of Daryaganj?
skskok




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: HINDI
MARKS: 60
DATE : 15-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION: A (OBJECTIVES)
g2 (3 A @ U ud & O3 e gaaw fafem | (0.4x 20=Y)
A A SRR 1 e of ?
(3) Mg (@) &reT () F1ad (8) 3R
T BT FAEER Weg w €2
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X B AT 1 e W A 2
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() 3 (S) aT8f
ar = 5 TR a2

(3) DY B (S) BTG B
() TR B ) IaE F
R &7 §&- ST IGT o7 ?

(3) ®d @) B (cp) Fioral
.U P FW P § ?
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?) R) a ®) exelt
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() =T R) TR (3) siaa
(8) S9EEH (W pfean
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() PGS (R) Bl
¥-3 (3) 9T Hel § 91 o faf@e |
YR JI &7 uelt 7l

AR BM &1 AHR R Sadbd db dedl I8dl ol
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T 1 X061 g1 ® §9 T8l IRA &
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(0. 4 x¥=R)

(¥) g1
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(¥) dcx

(0.4 x& =3)




¥-3 (@) W & g ey v fafew| (0.4 x¥=Y)
(?) g R) ™ (8) o

U-3 (P) VI P USHIN & A A ff@e | (0.4 x§& =3)
Ja, RoEr, i, o, e, Faa

SECTION: B (SUBJECTIVES)

-¥ (3f) UHl & TP ar ¥ I} fafag

HGU P Ed R G ?
IR & TH PH I & 3T § S R SIaTdhd d® d¢d 6d § ?
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gRaAt
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SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)

SUBJECT: GUJARATI
MARKS: 60
DATE : 17-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION - A (OBJECTIVE)
U-9 () «ild wdlL [aseuriell Al (dsed ude s2la daul, (0.Ux% =3)

Q) Slell oReql s10ll sisdldloll 1 & 2

() HIR () slud (5) Ll (S) ulue
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(3)  ALEYI o YO E6IRL UL B ?
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SECTION -B  (SUBJECTIVE)
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